FY3 ¢ MATHS

SCy
Terminal Exam 2023
»
Class:- FYIC (Science) ‘ ~ Time:- 2 hrs
Subject:- Maths " M.M:- 50

General instructions.
1. Figure to the right indicates full marks.
Section A
Q1. Select and write the correct alte;native. [ 10}
(i) The value of C; + G+C+ ————— + Cy is
(a) 10 (b)16  (c)256 (d) 128
qm The value of w + % is
@-1 b1 (ew (dw
(iii) sin? 0° + sin® 30° + sin® 60° + sin? 90° = ~ — ——?
} (a)~1  (b)2 (c) =1 (d)-2
(iv)ForaG.P. S, =2046,r =2,a =3 thenthavalucofnis
()8 (b)6 (c) 5 (d) 10

(v) If the matrix [_22 2] is singular , thenk =.....
@2 (-3 (-2 (&3
g.. Answer the following question. [4]
(i) Find the degree measure of ang.ie (Z—D
(i) State the sign of tan 380°.

1 -2 4
(i) Find sum t5 infinity of G. P Ty



Zeig 4

{iv)FindthevaJueofIS 6 8
g9 A2«

, without expansion.

Section B
Attempt any Eight of the following question. [16]
Q.3.Find the degree measure of an exterior angle of Hexagon.

Q.4.Eliminate 6, if x = 3secd , Y =4tan@

) i4+30) 5
Q.5.Express the number ==~ Intheformofa + bi.

Q.6.Prove that, (2 ~ w)(2 — w?) = 7. {
Q.7.Using binomial theorem find the value of (102)*,

Q.8.Which term of G.P. 5,25,125,.... ... i5 510

Q.9.Find the zngle between hour hand and minute hand of 4 chck-at

‘quarter past five’.
- h . il o 4\ 11
Q.10.Find the 5" term in the expansicn of ‘kx“ + —) .

Q.11.Check the consistency of the equations
X+2y-3 =0,7x+4y—-1= 0,2'):+4y%6: 0.

8

Q2if 4=["* o

}, then prove that 42 = @

Q.13.Findtanx, if cos x = *g. Where x lies jn 319 guadrant.

Section C

Attempt any Four of the following question, [12]

(2.)



Q.14.Prove that, 208 _ _ secf+1
secf-1 tang

a+b a b
a a+c¢. ¢ | = 4abc
b ¢ b+l

Q16.1f sum of two angles is 57 € and their difference is 60°. Find their moasures.

Q.15.Witnout expansion prove that,

T,
Q.17.Express the number in e3' the form of a + bi.
Q.18.Find the sum 0.7 + 0.77 + 0.777 + -+ to n terms.

Q.19.Find 8, if 2 cos? 0 = 3sin @,

Section D
Attempt any Two of the following questions.[08]

Q.20.The perimeter of a sector of a circle of area 64m sq.cm, is 56 cm. Find the
area of sector.

Q.21.Find the vaiue of 2x% — 11x2 4 44 + 27 if x = 25

3-4i

Q.22.Prove by the method of induction that , (24" — 1) is divisible by 15 v n € N.

1 2 2z
Q.23.f A = [2 1 2} , then show that A% — 44 is a scalar matrix,
2 2 1
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FIRST TERMINAL EXAMINATION, OCT-NOV, 2023
SUBIECT : PHYSICS
FYIC SCIENCE M.MARKS: 50
TIME: 2 HRS.
GENERAL INSTRUCTIONS: The question paper is divided into four sections.
SECTIGN A: Q. 1 Contains 7 miltiple choice type questions, carrying one mark eac-
Q. 2 Contains 7 very short answer typs questions carrying 1 mark each.
SECTION B: 0.3 to Q.13 Contains 11 short answer type questions carrying 2 marks each.
SECTION C: Q. 14 to Q. 19 Contains 6 short answer type guestions carrying 3 marks each,
SECTION D: Q. 20 to Q. 23.Contains 4 long answer type questions carrying 4 marks each.
Figures to the right indicates full marks. Use of logarithmic table is zllowed.
For multiple choice type question, it is mandatory to write the correct answer along with its
alphabet. Only the FIRST attempt will be considered for evaluation.
SECTION A

' Q. 1. Select and write the correct answer. (7)

(1) Dimensions of kinetic energy are same as that of -----

(a) force {b}acceleration (c} pressure (d} work.

{2) With decrease in water vapor content in air, velocity of sound-—--

(a) increases (b} decreases (c} remains constanit (d) cannot say.

(3) Optical fiber is based on which of the following phenomencn ?

{a) Reflection (b) Refraction (c} Total internal reflection (d) Dispersien.

(4) A giver: carbon resistor has the following color code of various bands: Orange, red,
Vallow and gold. The value of resistor in Ohm is -

(a) 32x10°10% (b)23x10°+5% (c)32x10*+5% (d)23x10°+10%

(5) The geometric lerigth of 2 bar magnet having magnetic length, 50 cm is ---- cm.

(2)1C (b) 12 ()6 [d} 4.2

(6) The smallest measurement that <27 be made using the given instrument is calied—

{2) significant number {b) least count (c) order of magnitude (d) relative error.

(7) The Laplace’s correction in the expression for velocity of sound given by Newton is

Mreded hecause sound waves propagate isobarically

(a) Are longitudinal (b) propagate isothermally (c} propagate adiabatically (d) propagate
Isochorically.

w——
~J
~

Q.2. Answer the fellowing:
(1) Write the number of sig%incant figures in 35.320.

(2) Definz 2bsolute refractive index.,



{3) What is reciprocal of resistance termed as?

{4) Define magnetic flux.

{5) Write anv two uses of optical fibers.

16} Define progressive wave.

(7) The vaiue of resistance is 57 K + 10 % , write the color code for the same.

SECTION B
Attempt any EiGHT of the following: . (16)
(3. Derive the formula for kinetic energy of a particle having mas§ m and velocily' v,
Using dimensicnal analysis.
Q.4. Define electyic current. State its formula and Sl unit.
Q.5. Draw the neat labejiod diagram of an optical fiber.
Q.6. Define magnetic induction. Wrii2 its Sl unit.
Q.7. Using dimspisionai analysis, show that 1 N = 10° gyne-
Q.8. Calculate the frequency of a sound wave travelling with a speea G. 340 m/s, and
Having wavelength of 2im.
Q.9. A thin prism of 6° angle gives a minimum deviation of 3°. What is the refractive index
Of the material of the prism?
(.10. A potential difference of 20 V is applied across a conductor of resistance 0.1250, what
Is the current in the conductor?
Q.11. Find the dimensional correctness of kinematical equation S=ut +% at?
Q.12. Write any two properties of magnetic lines of force.
Q. 13. Define the terms 1) Critical angle  and 2) thin prism.
SECTION C
Aitempt any FOUR of the foilowing. {12)
Q.14. The t2ngih of the rod as measured in an experiment was found to be 2.48 ¢m,
2.46 cm, 2.49 ¢m, and 2.50 cm. Find the mean absclute error, relative error and
Percentage error in the measurement.

Q.15. Explain the Laplace’s correction to the Newton's formula for the velocity of sound in

Air.



Q.16. For a prism, prove that | +e =A +d, where the symbois have their usual meanings.
Q. 17. At what temperature will the speed of sound in air be 1.75 times its speea‘;‘f NTP?

Q.18. Define longitudinal waves. Draw the neat labelled diagram sf longituding! wave

[T Tl =4

Travelling through air medium.

Q. 19. A copper wire of radius 0.6 mm carries a current of 1 ampere. Assuming the current
To be uniformly distributed over a cross sectional area, find the magnitude of current
Density.

SECTIOND
Attempt 2ny TWO of the following. (8)

Q.20. (a) Define Amplitude and frequency of a wave. Write their SI units.

(b) Derive the reiation V = nA
Q.21. (a) Explain the terms insiruiiantal and personal eiror, with suitable s¥amples.

(b) Write the order of magnitude of the following numbers.

{ 1 } Mass of an electron = 91 x 103%g. (2) Radius of the earth = 6400 x 103 m.
Q.22, (a) State the laws of reflection,

(b) A ray of light is incident on an equilaterai prism at an angle of incidence 509, is

Deviated through 50°. Calculate the angle of emergence.

Q.23. (a) (i) State Ohm's law. (ii) Define electric power.

{b) Prove that the current density of a metallic conductor is directly proportional to

The drift speed of an electron.
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RIZVI COLLEGE OF ARTS, SCIIZNCE AND COMMERCE.
XTI Scieace
1%t Termipal Fixam -2023
Sub — Biology

Time: 2 hrs and 30 min Max. Marks: 50
General Instructions

1. All questions are compulsory.

2. Section A contains Q1 of Multiple Choice Questions from I to vii carrying 1 mark
each and Q2 of Very Short Answer type of questions from i to Vii carrying 1 mark
each.

3. Section B contains Q3 to Q13 of’ Short Answer type questions carrying 2 marks each.

4. Section C contains Q14 to Q19 of Short Answer type questions carrying 3 marks

each.

3. Section D contains Q20 to Q23 of Long Answer type questions carrying 4 marks
S each.

Section A
1. Write the most appropriate option from the options given below. (TMarks})
i.  Water ahsorption takes place through _ .
(a) Lateral root (b) rootcap  (¢) root hair  (d) primary root
i, organelle is called suicide bag.
(a) Lysosomes (b) nucleus  (c) Ribosome (d) Chloroplast
iii.  Plant body of fungiiscalled _____ P
(a) Mycelium (b) hypha (¢) substratum () stalk
iv.  Liverwort and mosses are the type of __ ;
(a) Bryophyte b) Algae (c) Pteridophyta (d) gymnosperti.
v. Tibia and fibula are two long bonesof __ -
(a) Lower leg (b) upper leg
(¢) Lower arm (d) upper arm
vi.  Inmollusca shell is secreted by "
(a) foot (b) radulla (¢) mantle (d) osphredia
vii.  Collenchymas are _ type of tissue.
(a) living (b) dead (c) both (d) none
2. Amnswer in one sentence. (7Marks)
i, What is vascular bundle made up of?
ii, Name the special. root of cycas.
iii. Name the two contractile proteins of sarcomere.
iv.  Name the smallest gymnosperm.
v.  Define cell.
vi. What is a stipulate leaf?
vii. Name the e:xcretory organ of animals belonging to phylum arthropod.
Section B
Answer the followiag question (any 8). (16Marks,)

3. Give reasori. Bryophytes are called amphibious plaats.



4. Name the type of tracheids.

5. State the function of xylem and phloem.

6. Differentiate between plant and animal cell.

7. Match the Columns
Sr. No. Kingdoras Example
1. Monera Paramecium
2. Fungi Spirogyra
3. Plantae Bacteria
4. Protista Agaricus
8. Define systematics.
9. Draw a well labelled diagram of a leaf.
10. Match the column.
Sr.No N ame of joint Location
1 Pivot Knee and elbow
2 Ball and socket Atlas and Axis
3 Hinge Carpals and Metacarpals of Thumb
4 Saddle Hip and shoulder joint

11. Write short nnote on adventitious root.

12. Into how many types are leaves divided according to their venation. Des :ribe them.

Draw diagrams to support your answer.

13. Write short note on germ layer.

Answer the following question (any 4).

Section C

14. Give the characteristics of division of Gymnospermae.
15. Match the following.

Sr. No. A B
1. Phycomycetes Sac fungi
2, Ascomycetes , Club fungi
3, Basidiomycetes | Algal fungi

16. Sketch andi label sacrum and coceyx.

17. Explain the fluid mosaic model.
18. Define inflorescence. Name the types of inflorescence. Draw diagram to support your

dNSWEeET.

19. Draw neat and labelled diagram of Phloem tissue.
20. Classify with reason - a) shark and b) honeybee.

Section D
Apswer the following question (any 2).

21. Give the characteristics of division Thallophyta.(8points)

22. Explain the contraction mechanism in sarcomere.

23. What are the underground modifications of stems. Explain with the help of a diagram.

24. Write the functions of the following organs —a) cnidocytes b) organ of bojanas c)
water vascular system d) tail fin in fishes.

(12Marks)

(8Marks)



15 Termirnal exam
Academic Year 2023-24

Class : XI Marks 150
Sub  : Chemistry Duration : 2 hrs
Date

General Instructions:
All questions are compulsory.
Section A: Q. No. 1 Select and write the correct answer: (i) to (vii) MCQ
Q. No. 2 Answer the following: (i) to (vii) VSA Attempt any
Section B : Q. No. 3to Q. No. 13 SA-I (any Eight)
Section C: Q. No. 14 to Q. No. 19 SA-II (anv Four)

Section D: Q. No. 20 t0 Q. Wo. 23 LA 4 Marks (any Two) ]
Section-A

Q.No.1 Answer the following multiphe choice questions are I1X7=7TM ;
i) Delocalisation of ziectron in a compound having single bond due to clifference ;
i

#

electro negativity ;s Called.
a) Inductive effect b) elecironic effect c) hyper conjugation d) Resonance

ii) If atom is rnomo atomic with their charge with charge Zn" then OS

ay -+ b) 0 c)+i  d)-2 d
iit) Oxidstior number of copper in copper sulphate
al +2 b)-2 c) 0 d)+4 :

iv) Identi fy the nucleophiie from following ;
1) BF; b)NO*  ¢)CN  d)NHs
v) 'Which of the following temperature will read the same value on Celsius and Fahirenheit 4
scales
a)-40  b) +40 c)-80 d)-20
vi) The number of molecule in 22.4 dm? of the N2 g at STP is _
a) 6.022 x10% b) 6.022 x16% ¢) 6.022 x103d ) 6.022 x10 % d
vii) If ais equals to 2 number of Orbital will vbtainzd
ay 1 b) 2 c)3 d) 4 :

- mrpar

g

Q .80 2: answer the following 1x7=7
1) Define free radical

i) The Loss of electrons from the subs tance is known as

iii} Which electrons are involved in the formation of chemical bond

v State Law of conservation of mass.

V) If I=0, what value of m="?

vi) Define stationary Orbit

vii)  Define the term "Unit”

B 11

Y it DR L L

Section B 2x8=16

3. . Explain spin quantum number Explain ti:e formation of covalent bond in
a) Ha b) CCl4 E
4, Distinguish between carbocation and carboanion }
5. Write a note on Electrophile with cxample. ]
:

e D,

6. What is ionic solid and write the steps for the formation of NaCl.
7. Calculate number of mole and m olecute in 44.8 dm3 of Ammonia
8. Calculate the number of atom iry each of the following }
(Given atomic mass= 127u) !
A
4'

a)y 254 u. Of Jodine. b) 254 g of lodine
9. Explain spin quantum numbrzr,

Page 1 of 2 |
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10. Explain dual behaviour of particle .
11.. What are the postulates of Dalton’s atomic theory Write a note on Electrophile with
example.
12. Explain homolytic fission with example
13. . Calculate the oxidation number of underline atoms
a) Cr O7* b) NaH2PD4

Section C 3x4=12
14. Explain the formation of ionic bond in CCls
15. Write the structure and example of following functional group
a) Carboxylic group b) Hydroxyl group
16. TUPAC name of followin
Cng 2
a) CH3— CH;—~CH-CH-CH,-(H;
GaHg
b) CH3;-CH-CH — CH,-CF,;
Lra
c) C: Hs-CH-CH-CH3

{
cugbts

17. Define mole, convert following temperature into degree fahrenheit

a) 36 °C k) 40°C
19. What is orbital. draw the shape of s and P orbital Explain the formation of ionic bond in ccl4
Section D
Answer the following (Attemipt any 2) 4x2=8M

20. In one moles of acetaldehycle calculate follovring
a) number of moles of carbun

b) number of moles of hydrogen
¢) numbers of moles of (xygen
d) numbers of molecu'ies of acetaldchyde
21. Balance the following reaction by oxidation number method (Acid medium)
MnOs* + Fe?* ce>  Mn?" + Fe*
22 I Draw the structure o following
a) 2,3,3 trimethyl hexane
b) 3,3 diethyl pentane
II. Explain the inductive effect.

23.i) what is Hesienberg Uncertinity Principle. Explain with Equation.
ii) Give the structural Isomerse of CsHiz

R e iy e sttt - 3

e o

|
|

7 o e i e

g e e

rms

s

T o

S R




RIZV1 COLLEGE OJi ARTS SCIENCE AND COMMERCE
TERMINAL EXAMINATION - NOV/DEC 2023

SUB: COMPUTER SCIENC'E Paper I CLASS: X1
Time: 2 Hours MAX. MARKS: 50

NOTE: 1. All questions ure compulsory.
2. Draw neat dijagrams wherever necessary.
3. Figures to the right indicate full marks
4. Use of any type of calculator is not allowed
. Due credit will be given for the programs with appropriate conunents

W

Q. 1. (A) Select the correct alternative and rewrite the following: 4

a. 'Which of the following is the correct identifier?
i,  $var name
ii. VAR 123
iii. vamame@

iv.  None of the above

b. Which of the following is the address operator?

. @
. #
. &
iv. %

¢. Which of the following is the original creator of the C++ language?
i, Dennis Ritchie
ii.  Ken Thompson
11, Bjame Stroustrup

iv.  Brian Kernighan

1. Which of the following refers to characterisiics of an array?
i.  An amray is a set of similar data items
ii.  An array is a set of distinct data items
iii.  An array can hold different types of datatypes

iv. None of the above



Q.1.(B). Attempt any two of the following: 6

a. Write a Program in C++ to check whether is entered number is an Armstrong number or

not.
b. Write a Program in. C++ to generate Electric Bill using various slabs for units calcualtions.

¢. Explain the difference between For and While Loop Syntax.

Q. 2. Solve any five of the following using Binary Arithmetic method: 15
a. (10001101100 )2+ (17117) = ( )16
b. (8991 o —(2371 ) = ( N6
c. (15BE);s X(111)h = ( )10
d. ( 8865)0/ (100 )2 = { )8
e. (1457 yo —(500); = ( )10 using one’s Complement Method
f. (ABAB )0 — (641 )0 = )10 using one’s Complement Method c
10

Q. 3. (A) Answer any two of the following:

a. Write a program in C++ to Sort 10 numbers in Descer.ding Order.
b. Write a Program in C++ (o count the number of vowels in a string using switch() function.

¢. Explain type Conversion iri C++.

Q. 3. (B) Answer any one of the following: 5
a. Write a Program in C++- to demonstrate the use of Scope Resolution Operator.
b. Write a Program in C-~+ toc obtain average of 10 numbers using array.
10

Q. 4. Answer any two of the following:

a. Write a program in C++ to find Area of the Circle and Volume of Sphere using area( ) and c

volume( ) functions.
b. What are P ointers ? How will you declare a Pointer variable.
c. Write a Program in C++ to check whether the entered number is a Palindrome or not.

OR
Q. 4. Answer any two of the following:

d. Write a Program in C++ to reverse a Sentence entereci by the: User.
e. What are bitw'ise operators ? Explain their usage.
f. Compare bet¥veen While and For Loop with suitable: examples.

REE R R R L R R A RS A R A R S R
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RIZVI COLLEGE OF ARTS SCIENCE AND COMMERCE
TERMINAL EXAMINATION - NOV/DEC 2023

SUB: COMPUTER SCIENCE Paper 11 CL.ASS: X1
Time: 2 Rours MAX. MARKS: 50

NOTE: 1. Ali questions are compulsory.
2. Draw neat diagrams wherever necessary.
3. Figures to the right incticate full marks
4. Use of any type of calculator is not allowed

Q. 1. (A) Select the correc:t alternative and rewrite the following: 4
(a) Inductors are __ Electronic Components
(1) Active (i1} Passive (i11) Neutral (iv) None of these

(b) The fourth band in Resistor represents the manufactures

(i) Multiplier (1) Divider (iii) Tolerance (iv) None of these

(c) The region containing uncompensated acceptor and donor ions is called

(1) barrier layer(ii) depletion layer (1ii) empty layer (iv) None of these

(d ) The Unit of Inductance is

(i} Henry (i1) Farad (iii) Watt (iv) Columb
Q.1. (B) Answer any two of the following: 6

a. Write a short rotes of Inductors.
b. Explain Color Coding System of Resistors.
¢. Explain PN Junction Diode with Forward Bias.

Q. 2. (A) Attempt any five of the following | 15

a. Write a note on Laser Printer.

b. Write a note of SMPS.

. Write the working of Keyboard.

d. Write a note on Full Adder with Diagram.

e. How will you construct AND gate using NOR. Gate? Explain with diagram.
f. Explain Waorking of Mouse.

o



Q. 2. {B) Answer any one cf the following: 5

a. Explain VI characteristics of PN Junction Diode with Suitable Diagram.
b. Write a note or: Zener Diode.

Q. 3. Answer any two of the following;: 10

. Explain types of Transistors.

t. Write the truth table , expressions and symbols of OR, AND, NAND,Ex-OR and NOR
Gates.

Write a short on Single stage Amplifier.

o

12

Q. 4. Answer any two of the following: 10

a. How will you construct OR gate using NAND Gate. ? Explain with diagram.
b. Write a note on Paper Capacitors.
c. Explain Transistors as a Switch.
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XI___Marks 50 Electronics PI __ Teiminal Houys 2.00 . Nov_ 2023

Note:.
i} Figures to the right indicate full marks.
ii] Draw neat diagram wherever necessary.
fii] Calculator not allowed. Use Log table.

Q.1. Select the correct alternative and rewrite the ollowing sub questions. [05]

i) If Peak value of AC Sinusoidal waveform is 325 then it's average value is approximately

a) 207 b) 230 c) 240 d) none of these
) Transformer is working on the priaciple
a) Oersted b) Faraday c)botha& b d) None of these.

111) Two equal length lines is the symbol of
a) voltage b) Current ¢) Capacitor d) Inducior

iv ) To transfer Maximum power from 1% stage to 2% stage , input impedances of 2% stage
should be outpul impedance of |¥ stage.
a) Equal b) Less ihan ¢) Greater than  d) None of these.

v} Centre Tap Transformer has windings in secondary.

a) 1 b) 2 cj2or3 d) None of these.
B ) Attempt any one of the following. [05]
I} Draw symbols of Variable Resistor , Non Polar Capacitor , Inductor . E.m. Relay &

Trapsformer. _
m ‘Write colour codes for : 680 ohm. 2000 olun . 3K3 ohin. 4.7 k ohras 1000 Kilo ohwsg

Q.2 Attemapt any two from the following. [10}

i) Find value of Series Resistances required to increase range of volt metex to measure 100 V
and 200V, if Ifsd is 1000 yA . Rm 500 QOhms.

it) Write Resistors value for following cotour codes :

a) Brown grey Orange Gold. c¢) Yellow Violet orange &ilveyr
b} Orange Red brown No colour. d) Bilue green black Brown

it} Write a note on fixed CC resistors. Explain its colour coding.



o

(..

Q.1 Attempt any twc from the, follovving. ° 10}

1) What is the time constapy in capac.itor? Describe charging and discharging characteristics
curves of capacitor writiug different ‘values of time constants.

ii) Explain construction and working of a passive component transformer.

ii1) Explain with diagram working of SPDT electromagnetic Relay. Write it’s one Application.

Q.3 Attemp/ any two from the following. (10]
1) With the belp of diagram explsin construction and working of PMMC.
ii) Compare Series and Shunt iype of Ohm meters. 5 points

i) Witk the help of circuit dingram explain working of Ayrton type current What are its
advaptages.

Q.4. Attempt any twr, from the following. {10]
i) How AC generator ‘work ? How it procluce sine waveform ? Draw diagram and waveforms

i1} Define Amplitude: | frequency, RMS value |, Average value, Peak value with respeci to
Sinuseidai AC waveform.

ii1) Write a note on Non Sinusoidal waveforms. Draw diagrams. Write uses.

Q.3. Attempyt any twe from the following Problems

i) Draw electricity distribution line diagrams for 2 phase and 3 phase power supply. Skow value
of voltages between different lines.

i1) Compare AC with DC type of Electricity

1i1) Find C'urrents in different branches in the following circuit using KCL and KVI..

= Best Of Luck

Best Of Luck
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XTI _ Marks 50 Electronics PII _ Termina. Hours: 2.00.  Nov 2023,

Note:.
il Figures te the right indicate full irarks.

ii] Draw neat diagram wherever necessary.
tii] Calculator not aliowed. Use Log table.
Q.1 A. Select the correct: alternative and REWRITE the following sub: questions. [05]
i) CB Transistor isused for _ amplification
a) current ) voltage  ¢) power d) None of these

ii) Class A amplifier conducts for _ degrzaes.

a) %0 b) 180 ¢) 360 d} none of these.
i1t) Alpha is gain in CB configuration. of tansistor
a) current 1) voltage ¢) power 1) none »f these.
iv) Forbidden gap energy in Insulator is eV
a)0 b) 1 c) 10 dj none of these.

v) In Reverse bias depletion region width

a) decreases b} increases ¢) rematn constant d None of these.

B Aitempt any One of the following,. [05]
HDraw symbols of following devices and write applications of any two.

Rectifier Diode, NPN Transistor . PNP Transistor

i) Explain in steps how to draw Load line on Transistor cutput characteristics.

iii} Define alpha and Beta in BJT. Find out relations between them.

Q.2 Attempt any two of the following, [16])
i) Write a note on Extrinsic type of Semiconductor.
if) Draw Bridge rectifier circuit. Explain its working. Draw diagrams.

kii) What is rectifier? Compare three types of rectifier circuits. ( 5 points)



Q.3 Atteinpt any two of the following [10]
1) Draw diagram of forvvard bias circuit. Explain it's working .
if) Draw diagrams of fixed bias . collector feedback bias and Voltage divider bias.

ili) Explain how Depletion region width is formed when PN Junction is formed?

Q.4. Atterpt any two of the fellowing. [16]
i) Compare CB , CZ, CE configuration of Transistor: ( 5 points)
if) Explain Construction and Working of a Bipolar junction Transistor.

iii) Define Doping .Depletion region and Barner piotential in PN junction diode.

Q.5. Aftempt any two of the following. [10}
i) Compare Class A, Class B , Class AB and Class C of Transistor. (5 points) .
Which class amplifier has maximum efficiercy?

if) What is the effect of shifting operating point on load line towards saturation and cut-off
region of Transistor characteristics . Explain with the help of diagrams.

fli) Compare N type Semiconductor with P type Semiconductor.

oo All The Best —--—----



I Terminal Exam December-2022
Class: F.Y.J.C (SCI) Sub: Information Technology Marks: 50

Q1) Fill in the blank [10 M]
a) Primary memory is also called as
b) __ isset of rule for exchanging data.
c) protocol transfer web pages.
d) is command based operating system.
b) To add a text box in form tag is used.
¢) Un paired tags, not having closing tag are also called as___
d) software helps to access internet anci view web pages.

¢) RDBMS stores datain _ format.
) Key uniquely identify record in r.able.
g) is free operating system.
Q.2) State True or False [10 M]

1) HTTP protocol transfer text file.

2) Data are raw fact and figure.

3) DOS is a command based operating system.

4} To add border to table we add bordersize attribute.

5) DDL is related to creation and modification of table structure.
6) Open source soitware are free software.

7) Computer stores data in binary format.

8) BIOS programs are stored in primary memory.

9) Big data stores large amount of data.

10) Table relationship is used to join tables in database.

Q.3) Answer any five of the following [10 M]
1) Define networking,.
2) What is software?
3) What is Browser?
4) Define protocol.
5) What is Database?
6) Explain structure of html program?
7) Write data types in DBMS?

Q.4) Answer any four the Lollowing [10 M]
1) Exptain different output devices used in compuler.
2) Explain different Operating System.
3) Write in detail about different protocol.
4) Write note on types of network?

Q.5) Write program to design to design following web page. [10M]

a) Write htm, program to design a form that carry textbox to enter name, rollno,
address, radio button to add gender, check box at add subjects, submit and rexet
button.
by aJavaScript program to ac cept age from the user and check person is eligible to vote
or Ne'L.



F.Y.J.C (H.8.V.C) FIRST TERMINAL EXAM - NOV 2023

SUB: E.T (I) BAS'C ELECTRICITY. MARKS: 56M TIME : 2 Hrs.

Q 1) A. FILL IN THE BLANKS WITH APPROPRIATE WORD AND REWRITE THE

.l

SENTENCE. » (5M)
1. _ are used for twisting wires for tight connections. (pliers/files)
2. In case of eleciric fire, throw ______to extinguish it. (water/sand)
3. Series resistance network is used as divider. (voltage/current)
4. Thin oxide film is used as dielectric in capacitors. (electrolytic/non
electrolytic)
5. The potential drop per meter length is called _ . (permitivity/eletric field
strength) '
‘Q.1) B. Match the coiumn @and write the correct answer. (5M)
A B
1. Unit of capacitive re:actance 1. Mutual inductance
2. Principle of transformer 2. Loss in transformer
3. Unit of inductance 3. Blocks D.C.
4. Hysterisis 4. Ohms
5. Capacitor 5. Henry
Q.1) C. State the following statements are true or false. (5M)

. A capacitor bypasses AC signal.

A transformer transfers AC signal from pnm ary wmdmg to the secondary
winding of the transformer.

Toggle means to switch to opposite side.

A relay is an electromagnet switch.

5. The ability of dielectric material to concentrate magnetic flux is called its
permitivity.
Q 2) Draw the 3 types of inductors (symbols) (5 M)
Q. 3) Answer any 3 questions of the following (5 M each) (15M)

-l il ol =

izxplain the principie for the action of a transformer
Define soldering. Why is it necessary?

Explain code of resistors with an example.

State the laws of electrostatics.



Q. 4) Answer any 3 questions of the following (5 M each) (15M)

1. Define :

a) Electric flux

b} Electric field strength

Define charging and discharging of capacitor.

State advantages of PCB. = ' i
What are the precautions to be taken in a laboratory.

i
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F.Y.J.C ( H.S.V.C) FIRST TiZRMINAL NOV 2023
SUB: E.T (II) BBASIC ELECTRONICS. MARKS: 50M  TIME : 2 Hrs.

Q1) A, FILL IN THE BLANKS WITH APPROPRIATE WORD AND REWRITE THE
SENTENCE. (5M)

1. The ripple freque-ncy at the output of _____ rectifier when the transformer primary
is connacted to AC mains is 50 Hz. (half wave/ fuli wave)

2. The output impedance of a regulated power supply is (very low/ very high)

3. The sommon emitter amplifier provides a phase-shift of ____between input and
otitput. (1807 360)

4. The purpose of __ a transistor is to obtain a certain DC collector current
at a certain DC collector voltage. (biasing/not biasing)

5. A varactor diode provides variable efferct. (capacitance/ inductance)

Q.1) B. Maich the column and write the correct answer. {(5M)

A 3
Regulated power supply 1. Uses 4 diodes
Haif wave rectifier circuit 2. Uses filter circur!
Fuli wave rectifier 3. Uses only one dio.le.
Bridge re:ctifier 4. Magnifies a electrical signal
Amplifier 5. Uses two diodes

gk WN

Q.1) C. State the following statements are true or false. (5M)

A transistor cannot be used as a switch.

collector bias is the most popular biasing in electronic industry.
“A P-N junction diode allows current to flow through it when it is forward biased.
A LED works on very high voltage.

Rectifier converts AC to DC.

S

Q 2) Draw a neat diagram of a centre tapped fuil wave rectifier. (5 M)
Q. 3) Answer any 3 guestions from the following (5 MM each) (15M)

1. Give the symbol of:
a) LED
b) PNP transistor
¢) Zener diode
d) Tunnel diode
&) Photo diode
2. Draw the block diagram of a regulated power su:pply and explain function of

each block.
p.TO



3. Draw the crystalline structure of F' type semiconductor.
4. State the different functions of a F°-N junction diode.

Q. 4) Answer any 3 fyuestions of the following (5 M each) (15M)

1. Draw a nezt diagram of a bridge: rectifier..

2. Why are filter circuits used in power supply. State their different types of filters.
Explairi the necessity of voltage regulation.

4. Draw ‘the diagram of a comyaom emitter amplifier and expalin its working.

w



F.Y.J.C ( H.S.V.C) FIRST TERMINAL EXAM NOV- 2023
SUB: E.T (Ill) DIGITAL ELECTRONICS. MARKS: 50M  TIME : 2 Hrs.

Q1) A. FILL IN THE BLANKS WITH APPROPRIATE WORL) AND REWRITE THE

SENTENCE. L L (SM)
1. The radix of ___ number system is 8. (hexadecimal'octal)
2. In number system, each decimai number is expressed in nibble form.
(BCD/octal)
3. ASCII code has characters. (128/281)
4, ___ s the most widely used bipolar family. (TTL/CMOS)
5 A__ is also called as decoder. (MUX/DMUX)
Q.1) B. Match the column and write the correct answer. (5M)
A B
1. NAND - 1. Adds 2 bits at a time
2. Half adder 2. Universal gate
3. Full adder 3. Adds 3 bits at a time
4. NMNOT gate 4. Used as an Inverter
5. ORgate 5. Basic gate
Q.1) C. Siate the following staternents are true or false. (5M)
1. Demultiplexer is a circuit with many inputs and one output.
2. 1C 74147 is a priority encoder.
3. 1+1=10, In binary numbering system.
4, Octal number system dees not have a radix.
5. 10-1=1, In binary number system.
Q 2) Convert the following: (5 M)
1. (A2)16=( )wo
2. (1M1 wo=( )2
3. (46)s=( )wo

(0111 1000)sco = ()10
(75)10=( )is

il

Q. 3; Answer any 3 questions of the following (5 M each) (15M)

Write a note on DMUX. Draw its block diagram.

What is a logic family. Explain different types of logic families.
Explain OR gate with definition, symbol and truth table.

Draw the diagram of 7 segment display and CA type LED display. -

e B B



Q. 4) Answer any 3 questions of the following {5 M each) (15M)

1. Write the basic symbeols used in HEX.

2. State the rules of Binary addition and subtraction.

3. State De Morgans | and Il theorem. Draw their fogical diagram for both.
4. Define Half adder in Boole:an algebra. Give: its truth table.



RIZVI COLLEGE OF ARTS, SCIENCE AND COMMERCE
FIRST TERMINAL EXAMINATION 2023

ENGLISH
i .
- STD: Xl : : . TOTAL MARKS:50 -
(\J ——
TIME: 2 HOURS +
a1 [A] Read the Extract and Complete the Activities. “ 10 MARKS

In As?fsavari viilage, we asked the Sarpanch to help us as we were not very fluent with the
local"dialect. He sent his assistant Jeevan with us into the hills. After a half hour walk through
thick vegetation, crossing numerous streams and ditches and scrambling over rocks and
gravel, we reached the sleepy hamlet of Boripada. There were just two ramshackle houses in
front of us and we wondered if this was the right place. A wrinkled old woman sitting before
one of the houses looked at us with curiosity. As we approached her, we signaled to Jeevan
to ask the crucial question. She muttered in reply and we looked at leevan for a quick
interpretation. He broke into a smile and informed us that she did have the Jice and wanted
to know who we were and why we wanted it :

LS
It was a difficult task to keep'\straight face and | had to control a strong desire to hug her.
_After searching for months, we had found the elusive Kasbai. We explained to her that we
were from Peth nearby and we needed the seeds to grow it We

asked for 10 kgs of rice. She muttered and scowled. Jeevan interpreted that she had never
heard of Peth village and also did not have a weighing scale. She was willing to give the
seeds only in baskets. We asked fora single basket ofice and Jeevan told us to pay her
something. | handed over a 100 rupee note and for the first ime in the last ten minutes, her
face broke into a smile. She nodded her head in approval. As we walked back, against the |
fading sunset leaving behind a smiling old lady. | couldn't help but wonder that here, nestling
in the foothills of an unknown mountain away from the hustle and bustle of the road or the
city, were the real people of India. These were the people who still held on to the rich
biodiversity of our land and no one even cared. They had never heard of hybrids, fertilizers
or pesticides. They just grew their rice and ate what they got. The old lady we met had
probably never left Boripada. Her world was unspoiled by ‘progress'. And for once, | was
grateful for that.



1. Say if the stateménts are true or false: 2 MARRS

{i)The old woman weighed 10 kg of rice and gave it to the author.
(iThe author and his friend did not know the joca! dialect very well.
{ili) The people of Boripada village were well-aware of the modern way of farming.

(iv) The old woman was unhappy to get the price of the rice.

2. How was the old lady’s world unspoiled by progress? 2 MARKS
3. Guess why the old lady nodded her head in approval. ey 2 VIARKS

Why do you think the author was grateful to the old lady ;‘unspoiit' by

‘progress’? 2 MARKS A
5. Do as directed. 2 MARKS 6
l.  She nodded her head in approval (Make Compiex)
Il Her world was ‘unspoiit’ by * progress’ (Begm with "progress........” and
rewrite),
Q.1[B] GRAMMAR (Do as directed ) 4 MARKS

(i) It was tharoughly enjoyable ( Make Exclamatory)
—

(ii) A sword was hanging higher on his heads{Spot the error)

(iii} Revenue was ohtained i through advemqmg (Use question tag)
s haiendies

(iv) I have more books than you ( Change the degree to positive)

—?



Q.2[A] Read the extract and complete the activities 10 MARKS

There is another sky,

Ever serene and fair, )

And there is another sunshine,

Though it be darkness there;

Never mind faded forests, Austin,

Never mind silent fields -

Here is a little forest,

Whose leaf is ever green;

Here is a brighter garden,

Where not a frost has been;

In its unfading flowers

I hear the bright bee hum:

Prithee, my brother,

Into my garden come! i "

Q.2[B] Complete the Web Diagram. 2 MARKS
— T ——————

SAD AND GLOOMY

ASPECTS OF LIFE

O

2. Do you support the poet’s way of handling the situation? Justify your
answer (2 Marks)

3. Find out an example of Hyperbole from the Poem and explain it. (2 Marks)

4. Compose four lines of a poem, liking your ‘home’ using the words, warmth,
coemfort, paradise, alone (It can be a free verse or a rhyme) (2 Marks)

5. The poet says ‘Another Sky’. Guess the meaning (2 Marks)



Q.2 [B] APFRECIATION

Eight years have passed

Since I placed my cherry seed in the grass.
“Must have a tree of my own,” I said,

And watered it once and went to bed

And forgot; but cherries have a way of growing,
Though no one's caring very much or knowing.
And suddenly that summer near the end of May,
[ found a tree had come to stay.

it was very small, five months child,

Lost in the tall grass running wild,

Goats ate the leaves, the grass cutter scythe
Splititapart and a monsoon blight

Shriveiied the slender stem..... Even so,

Next spring I watched three new shoots grow,
The young tree struggle, upward thrust

Its arms in a fresh fierce lust .

For light and air and sun.

! could only wait, as one

Who watched, wandering, while Time and the rain

Made a miracle from green growing pain.......

Q. Write the Appreciation of the above poem using the points:

* About the poem, poet and title.
¢ Theme

® Special Features

Poetic Style

e languagz

e Poetic Device used

e Message or Morals in the Poem
¢ Your apihion about the poem

Ry

Q.3[A] E-MAIL:
TN N

The State Government of Maharasht:2 has decided to lake strict measures. on the Hawker's
encroachment on roads. Draft an e- matto the editor of a local daily expressing your concern

for the Jobless hawkers;,

(5 Marks)

(5 MARKS)



Q.3[B] EXPANSION OF IDEA : (5 MARKS)
/\-—’V\M/ t, i/
Expand the following ldea in about 100-150 words with help of following Points:

Quo—t‘\"{m-% . Health is Weafth

e Importance of good health
e Relation between Body and mind
e Importance of healthy mind

Q.3[C] INTERVIEW QUESTIONS (5 MARKS)
’_f"\_/'\_/\/\h

Write ﬂ’) questions to interview a boy who has won an award for Bravery. Use the table and

points:

[ NAME OF INTERVIEWEE
o FIELD/ACTIVITY/FAME s
DATE/VENUE/TIME e,
DURATION OF INTERVIEW

POINTS:

DEED
EMOTIONS
REACTIONS
SUPPORT
AWARD
MOTIVATION
FUTURE
MESSAGE

e R B al o

e Q.4 Rapid Reading: Do the activities which follow * {2 MARKS)
T N——

et

A] FILL IN THE BLANKS .

i) The)[étya ,§hastra on Indian Theatre was written by (TS Eliot, Oliver Goldsmith, ®
Bharat Muni, Rabindranath Tagore).

(i) The great 19th century Norwegian dramatist was (Willigm Shakespeare,
Marlowe, and Hi. Ibsen, Samuel Beckett)

B] Answer both the Essay Type questions: 04 MARKS
’
a} The Sergeants reaction surprises the audience Write your opinion {02. Marks)

b) Gwe a Character Sketch of the Man (mtroduced as a ballad singer} in the Rnsmg of the
Moon (02 Marks)

..BE/{Q“%N()(Z/M@




ITERM EXAM — 2023

FYJC ; Time: 2Hrs
ENGLISH Marks: 50
Instructions: -

(1) All questions are compulsory.

(2) Figure to the right carry maximum marks.

(3) Answers are to be writien in complete sentences.

(4) Figure/ webs/ diagram/ charts/ table etc. should be drawn and presented completely with
proper answers written as instructed.

(5) Use of colour pen/ pencil/ is not allowed. Use only Black or Blue pen.

Q1 (A) Read the given passage and cemplete the activities given below it: - (12 marks)

In Asarvari village, we asked the sarpanch to help us as we were not very fluent
with the local dialect. He sent his assistant Jeevan with is into the hills. After a half-hour
walk through thick vegetation, crossing numerous streams and ditches and scrambling over
rocks and gravel, we reached the sleepy hamlet of Boripada. There were just two ramshackle
houses in front of us and we wondered if this was the right place. A wrinkled old woman
sitting before one of the houses looked at us with curiosity. As we approached her we
signalled to Jeevan to ask the crucial question. She muttered in reply and we looked at
Jeevan for a quick interpretation. He broke into smile and informed us that she did have the

rice and wanted to know who we were and why we wanted it.

It was difficult task to keep a straight face and I had to control a strong desire to
hug her. After searching for months, we had found the elusive kasbai, We explained to her
that we were from Peth nearby and we needed the seeds to grow it. We asked for 10
kilogram of rice. She muttered and scowled. Jeevan interpreted that she had never heard of
Peth village and also did not have a weighing scale, She was willing to give the seeds only in
baskets. We asked for a single basket of rice and Jeevan told us to pay her something. 1
handad over a 100- rupes note and for the first time in the last ten minutes, her face broke

into a smile. She nodded her head in approval.



As we walked back, against the fading sunset, leaving behind a smyling old lady, |
couldn’t help but wonder that here, nestling in the foothills of an unknown mountsin away
from the hustle and bustle of the road or the city, were the real people of India. These were
the people who still held on to the rich biodiversity of our land and no one even cared about
them. She had never heard about hybrids, feitilizers or pesticides. They just grew their rics
and ate what they got. The old lady we met had prokabiy never left Boripada. Her world was

unspoilt by ‘progress’. And for once I was grateful for that,

(A1) Global Understanding: -

{1)  Say whether the following statemenits are True or False. Correct the false

statements.(2)
(i)  Theold woman weighed IOkg of rice and gave it to the author.
(i)  The author and his friend did not know the focal dialect very well. 6’\ }
(iii) The people at Boripada village were well-aware of the medem way of farming.

(iv) The old woman was unhappy fo get the price of the rice.

{A2) Complex factual; -

How wus the old lady’s world unspoilt by progress? (2)

(A3) Interference/ Interpretation/ Analysis: -
Interpret the Statement: - “It was difficuit to keep a straight face......”, (2)

(A4) Personal Response: -
Describe in about 50 words your expericnce similar to the writer’s when you pursued
something and reached your goal. (2)
‘ )
®
(A5) Language Study: -
@ Her world was unspoilt by “progress’. (Begir: the sentence with ‘Progress....>and
rewrite) (1)

(if)  She vodded her head in approval. (Use ‘approved’ to make it u complex sentence).(1)



{(A6) Vocabulary: -

Maich the words in column ‘A’ with their synonyms in column ‘B’. (2)

Column ‘A’ Column ‘B’

(a) Biodiversity (1) Chemical used to kill harmful
insccts

b) Hybrid (2) Plant food

(c) Pesticide ' (3) Existence of wide variety of plants
and animals on earth .

() Fertilizors (4) Mixed-brecd

(B) Grammar: - (4)

Do as directed: -

(D) “I bought a new dress yesterday”, said she. (Chang? into indirect speech)

(ii)  Assoonas I reached the platform, the train lefi. (Use *No soonci.. .. than” and
rewrite)

(iii)  Early rising is good. (Rewrite the sentence beginning with “Tt is....”)

(iv)  The ship went down yet the crew were saved. (Rewrite ihe sentence heginninyg with

“In spite of....")

Q2 (A) Read the exact and complete the activities given below: - {10 marks)
There is another sky,
Ever serene and fair,
And there is another sisishine.
Though it e darlmess there;
Never mind faded forests, Austin
Never mind silent ficlds
Here is a little forest,

Whase leaf is ever gicen;



Here is a brighter garden,
Where not a frost has been;
In ais unfading flowers
hear the bright bee hum:
Prithee, my brother,

Into my garden come!

Al. Global Understanding

Compleie the table by matching human feelings with the things of Nature. (2)

Human feelings ' Nature

(1.)  Loneliness

{2.)  Freshuess

(3.)  Being active

(4.) Caimmness/ Peace

A2. The poct says ‘another sky’. Guess the meaning. (2)
3. Porscnai Response: -

Write your experience of something which your sibling did out of concern for you. (2)

A4. Poetic Devices: -
(1) Identify and explain the f{igures of speech in the following lines: -
(i) “And there is another sunshine,
Though it be darkness there;”
(i) “Never mind faded forests, Austin,

Never mind silent fields ”

AS5. Poetic Creativity: -

Compose a poein in appreciation of your ‘home’ using the words - paradise, warmth,

comfort, alone. (2)




(B) Poetic Appreciation: -

Write an appreciation of the poem considering the following points: - (5)

About the poem / poet / title.

Theme

Poetic devices, language, style

Special features / novelties / focussing clement
Values, message

Your opinion about the poem.

Sitting in a porchway cool,
Sunlight, I see, dying fast,
Twilight hastens on to rule.
Working hours have well-nigh past.
Shadows sun across the lands:

But a sower lingers still,

Old, in rags, he patient stands.
Looking on, 1 feel a thrill.

Black and high, his silhouette
Dominates the furrows deep!

Now to sow the task is set.

Soon shall come a time to reap.
Marches he along the plain

To and fro, and scatters wide
From his bands the precious grain;
Muse I, as I sce him stride.
Darkness deepens. Fades the light.
Now his gestures to mine eyes

are angust; and strange; his height

Seems to touch the starry skies.



Q3. Writing Skills
(1) Expansion of ideas: - (5) _
Expand the idea inherent in the following, proverb: ‘One should cat to live, not live to)

eat.’

(2) E-mail writing: - (5)
Write an informal email to your fric:nd 1 vho has shifted abroad asking to exciting stories

from the foreign land.

(3) Interview: - (5)
Prepare a list of 8 to 10 questions to tx asked while interviewing a jawan (soldier) from

Indian Amny.

Q4 (A) Write if the following statement :are True or False. (2)
(1) A stage whisper is far softer than a whisper in real life. ( )
(2) No theatre existed between 1942 and 1960. ()
" (3) The theatre of the 16™ century was open to the sky. ()
(4) Modem Indian drama is influenced by Sanskrit and Urdu traditions. ()

- (B) The Sergeant supports the man by misguiding his comrades. Write your views. (2)

ik sk okok sk
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